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Daily Word Problem

E-96

answer: ____________________

expression: ____________________

At a wedding reception there are 12 circular tables that have 
8 chairs each and 9 square tables that have 4 chairs each.

Write an expression using parentheses that shows how many 
chairs are at the reception.

Use your expression to determine how many chairs are at  
the reception.

Show your work.
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Name: E-97

answer: ____________________

Nola's dog had a litter of puppies. The first puppy weighed 
1.31 pounds. The second puppy weighed 1.33 pounds. The 
third puppy weighed 1.03 pounds.

How much did the puppies weigh all together?

Order the weights of the puppies from lightest to heaviest.

 ______________, ______________, ______________

Show your work.
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Name: 

Write your answer as a mixed number or decimal.

E-98

A cricket is 11/  inches long. Crickets can leap about 50 times 
the length of their bodies. About how far, in inches, could this 
cricket leap?

Show your work.

answer: ____________________

1
4
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Name: 

One day on the planet Venus lasts 5,832 hours. How many 
days would this be on Earth?

Show your work.

answer: ____________________

E-99
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Name: E-100

A chemist is doing an experiment. She needs to combine 
several small beakers of liquid into a large beaker to create 
a solution. She pours 49.2 milliliters from the first beaker, 26.73 
milliliters from the second beaker, and 51.8 milliliters from the 
third beaker. How many milliliters of liquid will be in her final 
solution?

Show your work.

answer: ____________________



Daily Word Problem

ANSWERSE-96 through E-100
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A chemist is doing an experiment. She needs to combine 
several small beakers of liquid into a large beaker to 
create a solution. She pours 49.2 milliliters from the first 
beaker, 26.73 milliliters from the second beaker, and 51.8 
milliliters from the third beaker. How many milliliters of 
liquid will be in her final solution?

Show your work.

answer: ____________________

One day on the planet Venus lasts 5,832 hours. How many 
days would this be on Earth?

Show your work.

answer: ____________________

Write your answer as a mixed number or decimal.

A cricket is 11/  inches long. Crickets can leap about 50 
times the length of their bodies. About how far, in inches, 
could this cricket leap?

Show your work.

answer: ____________________

1
4

answer: ____________________

Nola's dog had a litter of puppies. The first puppy weighed 
1.31 pounds. The second puppy weighed 1.33 pounds. The 
third puppy weighed 1.03 pounds.

How much did the puppies weigh all together?

Order the weights of the puppies from lightest to heaviest.

 ______________, ______________, ______________

Show your work.

answer: ____________________

expression: ____________________

At a wedding reception there are 12 circular tables that have 
8 chairs each and 9 square tables that have 4 chairs each.

Write an expression using parentheses that shows how 
many chairs are at the reception.

Use your expression to determine how many chairs are at  
the reception.

Show your work.

(12 × 8) + (9 × 4)

132 chairs

1.03 1.31 1.33

12 × 8 = 96 9 × 4 = 36
96 + 36 = 132

3.67 pounds

1.03 + 1.31 = 2.34

49.2 + 26.73 = 75.93

2.34 + 1.33 = 3.67

75.93 + 51.8 = 127.73

or 62.5
inches
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62 62 or 62.5

127.73 milliliters243 days

5,832 ÷ 24 = 243


